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1 100kN/m#%#BZ % -l -~ = —-|3m#EFEZS -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZiBZD -~ - - -
s 1.00{0.00 ~ 535 78.68| ZnList | 000 ~ 535| 1.81 7.95 ZznLst 1.00f 500 ~ 854 78.68| #nList | 500 ~ 854| 1.81 7.95
9 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B .~ - - -
ZhnLs 1.00{0.00 ~ 5.66 83.49| #hLi4 | 000 ~ 566| 1.83 8.05 ZznLst 1.00f 500 ~ 934 83.49| #nLis | 500 ~ 9.34| 1.83 8.05
3 100kN/m#%#BZ % -l -~ = —-|3m#EBZ 5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B .~ - - -
s 1.00{0.00 ~ 6.28 93.40| Zh L4 | 000 ~ 6.28] 2.29 10.06 ZznLst 1.00f 500 ~ 11.20 93.40| ZnList | 500 ~ 11.20] 2.29 10.06
4 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEi#BZ B .~ - - -
s 1.00{0.00 ~ 6.54 97.68| Zh L4 |0.00 ~ 6.54| 2.17 9.53 ZznLst 1.00] 500 ~ 1241 97.68| ZnList | 500 ~ 1241 217 9.53
5 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B .~ - - -
ZhnLs 1.00{0.00 ~ 6.60 98.65| ZnLis |0.00 ~ 6.60| 2.14 942 ZznLst 1.00] 500 ~ 12.86 98.65| #nList | 500 ~ 1286| 2.14 942
6 100kN/mM%i#BZ 5 1.00{ 0.00 ~ 0.02 100.35|3m%B x5 al ~ - - —| 100kN/mM%# 2% 1.00f 13.21 ~ 13.30 100.35|3m% 25 = ke = = =
s 1.00{0.02 ~ 6.71 100.00] #h it 000 ~ 6.71| 2.14 942 ZznLst 1.00f 500 ~ 13.21 100.00| #hust | 5.00 ~ 13.30|] 2.14 942
7 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 ol ~ - - -
s 1.00]{0.00 ~ 437 64.05| ZnList | 000 ~ 437| 1.84 8.10 ZznLst 1.00f 500 ~ 6.41 64.05| ZnList | 500 ~ 641 1.84 8.10
8 100kN/m#ZH#BZ % 1.00{ 0.00 ~ 0.63 110.56|3m%E{B 2% l ~ - = —| 100kN/mM%#B 2% 1.00| 12.72 ~ 15.56 110.56|3m%EE 25 al ~ = - -
s 1.00{ 0.63 ~ 7.31 100.00] #hist [ 000 ~ 7.31| 240 10.56 ZznLst 1.00f 500 ~ 12.72 100.00| #hust | 5.00 ~ 1556| 2.40 10.56
9 100kN/mM#ZH#BZ % 1.00{ 0.00 ~ 0.90 115.30|3m%{B x5 l ~ - = —| 100kN/mM%#B 2% 1.00| 13.46 ~ 18.81 115.30|3m%E{E 25 al ~ = - -
s 1.001 090 ~ 759 100.00] #h it 000 ~ 759 230 10.12 ZznLst 1.00] 500 ~ 13.46 100.00| Zh a4t | 5.00 ~ 18.81| 2.30 10.12
10 100kN/m#ZH#BZ % 1.00{ 0.00 ~ 0.62 110.42|3m%EB 25 l ~ - = —| 100kN/mM%#B 2% 1.00] 1349 ~ 16.83 110.42|3m%EB 25 al ~ = - -
s 1.00{0.62 ~ 7.30 100.00] #h it | 000 ~ 7.30f 2.30 10.11 ZznLst 1.00f 500 ~ 1349 100.00| Zh a4t | 5.00 ~ 16.83] 2.30 10.11
11 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 ol ~ = - -
T IO0)) 1.00/ 000 ~ 6.46 96.27| #hLis [0.00 ~ 6.46] 2.07 9.12 ZThLs 1.00] 500 ~ 13.12 96.27] #hiist | 500 ~ 13.12| 207 9.12
19 100kN/m%#E% % -l -~ = —-|3mZzBRB| - ~ = = —| 100kN/mM%#B 2% = -~ = -|3m%EBZ5 ol ~ = - -
ZhnLst 1.00{0.00 ~ 4.15 60.86] zh L4 |0.00 ~ 4.15] 1.59 7.01 zh st 1.00f 500 ~ 6.89 60.86] Zn L4t | 500 ~ 6.89] 1.59 7.01
100kN/mM%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
T IO0)) ~ ZThLLSE ~ ZNLS ~ T IO0)) ~
100kN/m%Z#E% % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImERZS ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~
100kN/m%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#B% % ~ ImERZS ~
ZHUs ~ Zh LS ~ ZHLUS ~ Zh s ~
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